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print ("Hello World") -
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data=[0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10}
search_num=int (input ("search number=",))
left=0
right=len(data)~1
while left<=ri
mid=(left+right)//2
if datal[mid]==search_num:
print("No." ,mid)
break
elif data[mid]<search_num:
left = mid + 1

else:
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right = mid - 1
if left>right:
print ("Not found")
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1 1L=[2,3,1,0,7,9,6,5,10]
2 for i in range(len(L)-1):

3 for j in range(len(L)-i-1):
4 if L[j1>L[5+1]:

5 tmp=L [j+1]

6 L[j+11=L[]]

7 LLj]l=tmp

8 print(L)
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L{0l=L[1]
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print (L)
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1 data=[10, 9, 8, 7, 6, 5, 4, 3, 2, 1, 0]
search_num=int (input ("search number=",))
left=0 )

right=len(data)-1

while left<=right:
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w

6 mid={(left+right)//2

7 if data[mid]==search_num:
8 print("No.",mid)

9 break

10 elif datal[mid]<search_num:
11 left = mid + 1

12 else:

13 right = mid - 1

14 if left>right:
15 print("Not found")

@ 51TH Twhile left<=right:] — rv% left>=right:

data=[10, 9, 8, 7, 6, 5, 4, 3, 2, 1, 0]
search_mum=int (input ("seatch number=",))
left=0

right=len(data)-1

while left>=right:
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6 mid=(left+right)//2

7 if data[mid]==search_num:
8 print ("No." ,mid)

9 break

10 elif datal[mid]<search_num:
11 left = mid + 1

12 else:

13 right = mid - 1

14 if left>right:
15 print("Not found")
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data=[10, 9, 8, 7, 6, 5, 4, 3, 2, 1, 0]

ot

2 search_num=int (input ("search number=",))
3 left=0

4 right=len(data)-1

5 while left>=right:

6 mid=(left+right)//2

7 if data[mid]==search_num:
8 print("No." ,mid)

9 break

10 elif datafmid]>search_num:
11 left = mid + 1

12 else:
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15 print("Not found")
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2 search_num=int (input ("search number=",))
3 left=0
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5 while left<=right:

6 mid=(left+right)//2

7 if datalmid]==search_num:
8 print("No." ,mid)

9 break

10 elif data[mid]>search_num:
11 left = mid + 1

12 else:

13 right = mid - 1

14 if left>right:
15 print("Not found")
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